
DATEDATE

DATEDATE

DATEDATE

APPROVED/RELEASED

DATECHKDBYCHANGE DESCRIPTIONSYM

REVISIONS DO NOT SCALE DRAWING

ACCORDANCE WITH LATEST ANSI Y14.5
DIMENSIONING & TOLERANCING IN

ACCORDANCE WITH LATEST ANSI B46.1
SURFACE TEXTURE TO BE IN

BREAK SHARP EDGES .03 MAX.
REMOVE ALL BURRS AND

SURFACE ROUGHNESS

.XXX  –

.XX   –
–.X    –

ANGULARDECIMALS

TOLERANCES

ALL DIMENSIONS ARE IN INCHES
UNLESS OTHERWISE SPECIFIED:

RESPONSIBLE ENGINEER

DESIGNER

CHECKED BY

DATEDRAWN BY

MATERIAL

LOG NUMBER

PROJECT MGR.

GP LEADER

DATECHIEF DESIGN ENGINEER

SCALE

SHEET OF

SIZE DRAWING NUMBER

TITLE

ADVANCED PHOTON SOURCE

THIS DRAWING IS THE PROPERTY OF

U
N

IV

ER S IT Y

O
A

CIHCFO

Y
R

O
T

AR

OBALLANOITAN
E

N
N

O
G

R
A

G

ARGONNE NATIONAL LABORATORY

PARTS LIST

ITEM DWG/PART NUMBER NOMENCLATURE OR DESCRIPTION MATERIAL / SPEC QTY

8 7 6 5 4 3 2 1

A

B

C

D

E

F

G

H

12345678

H

G

F

E

D

C

B

A

A2384300

P4105091204-280200-00

Y4 MIRROR
SUPPORT SYSTEM

POSITIONING STAGE #28-B
ASSEMBLY

SEE PARTS LIST

.1 [2.5]

.01 [0.25]

.005 [0.13]

0°30’

125
K. COSTELLO 3-8-96

1:1

E1 1

J. BARRAZA 3-8-96

COSTELLO/BARRAZA3-8-96

J. BARRAZA 3-8-96

D. SHU 03/16/96

T.M. KUZAY 3/18/96

TRAVEL
-.236 [6.00] +.236 [6.00]

TRAVEL

-.236 [6.00]
TRAVEL

+.236 [6.00]
TRAVEL

)( 5.13 [130.18]

13.27 [337.02]

+1.181 [30.00]

-1.181 [30.00]
TRAVEL

TRAVEL

13 10-32 X .50 SOCKET HEAD CAP SCREW SST 4COMMERCIAL STD

1 T4 60mm TRAVEL VERT STAGE ASSY SEE DETAIL 1P4105090504-550000

2 Y4 FRICTIONLESS TABLE #2 ASSEMBLY SEE DETAIL 1P4105091204-270201

3 Y4 LINEAR ACTUATOR LOCATING BUTTON SEE DETAIL 1P4105091204-270202

4 Y4 LINEAR ACTUATOR MOUNTING BRACKET SEE DETAIL 1P4105091204-270203

5 Y4 SPRING SPOOL SEE DETAIL 2P4105091204-270204

6 Y4 SPRING SEE DETAIL 2P4105091204-270205

7 Y4 SPRING MOUNT SEE DETAIL 2P4105091204-270206

8 LINEAR ACTUATOR VP31 STEP MTR DRIVE 1  BC021281

9 4-40 X .75 FLAT HEAD MACHINE SCREW SST 4COMMERCIAL STD

10 8-32 X .25 PAN HEAD MACHINE SCREW SST 2COMMERCIAL STD

11 8-32 X .44 SOCKET HEAD CAP SCREW SST 4COMMERCIAL STD

12 HELICAL SPRING LOCK WASHER #8 STD SST 6COMMERCIAL STD

14 .25 X 1.50 SOC HD SH SCR W/NYLON STEEL 2 91264A251

15 Y4 SPRING SPOOL SPACER SEE DETAIL 2P4105091204-270212

16 4-40 X .38 SOCKET HEAD CAP SCR SST 4COMMERCIAL STD

1

2

3

4

5 6

8

11

13

14

15

16

APPROX. WEIGHT: 92 LBS. (42.10 Kg)

2

DETAIL BDETAIL A

30 6-32 X 1.00 FLAT HEAD MACHINE SCREW SST 5COMMERCIAL STD

29 Y4 ENCODER SPACER -LONG- SEE DETAIL 1P4105091204-270209

28 Y4 ENCODER SPACER -SHORT- SEE DETAIL 1P4105091204-270208

27 LINEAR ENCODER 0.05 MICRON RES 1MSA 6703/R12/50/L120

26 Y4 LIMIT SWITCH TRIPPER -LONG- SEE DETAIL 1P4105091204-270211

25 Y4 LIMIT SWITCH TRIPPER -SHORT- SEE DETAIL 1P4105091204-270210

24 4-40 X .38 SOCKET HEAD CAP SCREW SST 4COMMERCIAL STD

23 PIN, HARD GRND, .125 X .69 SST 2COMMERCIAL STD

22 8-32 HEX NUT SST 2COMMERCIAL STD

21 8-32 X .25 SOC HD SET SCR DOG PT STEEL 2COMMERCIAL STD

20 HELICAL SPRING LOCK WASHER #4 STD SST 8COMMERCIAL STD

19 4-40 X .50 SOCKET HEAD CAP SCREW SST 4COMMERCIAL STD

18 MY-COM PRECISION LIMIT SWITCH 2   E75/80

17 Y4 LIMIT SWITCH MOUNTING PAD SEE DETAIL 2P4105091204-270212

3

4

31 8-32 X 1.00 SOCKET HEAD CAP SCREW SST 4COMMERCIAL STD

1 NEWPORT CORPORATION
1791 DEERE AVE.
IRVINE, CA 92714
PHONE: (714) 863-3144
FAX:  (714) 253-1680

2 MCMASTER-CARR
P.O. BOX 4355
CHICAGO, IL. 60680-4355
PHONE: (708) 833-0300
FAX:   (708) 834-9427

4 RSF-ELEKTRONIK
11470 SUNRISE GOLD CIRCLE #3
RANCHO CORDOVA, CA. 95742
PHONE: (916) 852-6660
FAX:   (916) 852-6664

3 BAUMER ELECTRIC
122 SPRING STREET, #C-6
SOUTHINGTON, CT 06489
PHONE: (203) 621-2121
FAX:  (203) 628-6280

SOURCES:

REF

3029
3127 12

REF

28 30

)(15.22 [386.47]

23

10 12

7 9

ALLOW SUFFICEINT CABLE

VERTICAL TRAVEL.
LENGTH FOR MAXIMUM

C

C

21

DETAIL "A"
SCALE: 1=1

24

REF

20 26

22

DETAIL "B"
SCALE: 1=1

19

25 17

20

18

MICROSWITCH  18  WIRE CONNECTIONS TO CONNECTOR  35

MOTOR  8  WIRE CONNECTIONS TO CONNECTOR  35

ALL DIMENSIONS SHOWN IN [ ] ARE MILLIMETERS

CW LIMIT

NC
C

---
---

PIN #    TERMINAL

U
X

3.

W
T

H
F

J

NC
C

TERMINAL
CCW LIMIT

---
---

BLACK
WHITE
WHITE

NOTES:

PIN #             WIRE COLOR

AND ARE FOR REFERENCE USE ONLY.

2.

A

D
C

E

B

1.

GREEN/WHITE

RED/WHITE
GREEN

BLACK

RED
5 ELCO CORPORATION

HUNTINGDON INDUSTRIAL PARK
HUNTINGDON, PA 16652
PHONE: (800) 653-3526
FAX:   (814) 643-0426

32  P4105090504-310001 T4 CONNECTOR BRACKET SST 1

33 COMMERCIAL STD 2-56 X .50 FILLISTER HD MACH SCREW SST 4

34 COMMERCIAL STD #6-32 UNC-3A x .50 LG. S.H.C.S. SST 2

35 00-8016-020-000-601 CONNECTOR BODY 1

36 60-8017-03-13-300-339 CONTACTS 205

5

VIEW: C-C
SCALE: 1=1

34

FROM ITEMS 8 & 18

32

33 35

SEE NOTE 2 & 3.

CABLE WIRES

36


